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QUESTION 1

Refer to the exhibit. 

A global sales organization operates in three regions: AMERICAS, EMEA: and APAC. Each region stores its sales
transactions in a separate database in which the employees update customer data through a third-party app. The data
is 

extracted into three QVDs. 

A data architect sets up a two-tier architecture for the data load. The data architect needs to add the region to the data
model. 

Which technique should the data architect use to create the Region field? 
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A. Create a Region field in the SalesTransaction table and populate using fixed region values while loading from each
source 

B. Create a Region field in the Employee table and populate using the LTrim function on the EmployeelD 

C. Create a Region field in the Employee table and populate using the SubField function on the EmployeelD 

D. Create a Region field in the SalesTransaction table and create a mapping table based on the Country field in the
Customer table 

Correct Answer: A 

 

QUESTION 2

A data architect needs to efficiently prepare a data model for a meeting in an hour. 

The data source to be used contains five date fields The app needs to display sales trends and compare the current
year to date (CYTD) to last year to date (LYTD) The app is NOT going to be published It will only be used for this
meeting 

and a single user\\'s ad-hoc analysis. 

What should the data architect do to meet these requirements? 

A. Use the data manager 

B. Load a calendar island 

C. Create a canonical calendar 

D. Create five master calendars 

Correct Answer: C 

 

QUESTION 3

ITALY IT001 HR 

GERMANY DE002 HR 

SPAIN SP03 FINANCE 

FRANCE FRO04 SALES 

Refer to the exhibit 

A company stores the employee data within a key composed of Country UserlD, and Department. These fields are
separated by a blank space. The UserlD field is composed of two characters that indicate the country followed by a
unique code of two or three digits. A data architect wants to retrieve only that unique code. 

A. LTRIM (SUBFIELD (Key, \\' \\', 2), 2) 

B. MID ( SUBFIELD (Key , \\' \\', 2), 3) 
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C. RIGHT(SUBFIELD (Key,\\' \\', 2), 3) 

D. LEFT(SUBFIELD(Key, \\' \\', 2), 2) 

Correct Answer: D 

Explanation: This expression will extract the unique code from the key by using the SUBFIELD function to separate the
key into its components, and then using the LEFT function to extract the first two characters of the second
component.Source: Qlik 

 

QUESTION 4

A data architect executes the following script. 

Which values does the OrderDate field contain after executing the script? 

A. 20210131, 2020/01/31, 31/01/2019, 0 

B. 20210131,2020/01/31,31/01/2019 

C. 20210131, 2020/01/31, 31/01/2019, 9999 

D. 20210131, 2020/01/31, 31/01/2019, 31/12/20 

Correct Answer: D 

 

QUESTION 5

Refer to the exhibit. 
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The data architect needs to build a model that contains Sales and Budget data for each customer. Some customers
have Sales without a Budget, and other customers have a Budget with no Sales 

During loading, the data architect resolves a synthetic key by creating the composite key 

For validation, the data architect creates a table containing Customer, Month. Sales, and Budget columns. 

What does the data architect see when selecting a month? 

A. All Customers, all Budget and all Sales records 

B. Customer and Sales records for that month, but missing values for Budget 

C. Customer and Budget records for that month, but missing values for Sales 

D. Customer, Sales, and Budget records for that month 

Correct Answer: D 

 

QUESTION 6
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Refer to the exhibit 

A data architect develops an app for Coffee4all, a coffee company with stores located throughout Europe 

The script runs successfully, but the Stores table does not have any values. 

What should the data architect do? 

A. Use where exists (ID, StorelD) 

B. Use where exists (ID) 

C. Use Concatenate before loading the Stores table 

Correct Answer: B 

 

QUESTION 7

A data architect is using an Include statement to load the collection of variables from a TextFiles folder connection into
an app. The data architect needs to load the data and generate an error if it fails. Which statement should the data
architect use? 

A. $
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